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1. Gibson Company recorded the following cash transactions for the year:
Paid $180,000 for salaries.
Paid $80,000 to purchase office equipment.
Paid $20,000 for utilities.
Paid $8,000 in dividends.
Collected $310,000 from customers.
What was Gibson’s net cash provided by operating activities?
(A)$110,000
(B) $30,000
(C)$130,000
(D)$102,000
2. 'Why should the income statement be prepared first?
(A) The statement of cash flows should be prepared first because it determines the sources of
cash. That information is then used in preparing the income statement.
(B) Net income from the income statement flows into the retained earnings statement. The
ending retained earnings balance then flows into the balance sheet.

(C) The income statement does not have to be prepared first. Financial statements can be
prepared in any order.

(D)None of these answer choices are correct.
3. These are selected account balances on December 31, 2014,

Land $100,000
Land (held for future use) _ 150,000
Buildings 800,000
Inventory 200,000
Equipment - 450,000
Furniture 100,000
Accumulated Depreciation 300,000

What is the total amount of property, plant, and equipment that will appear on the balance
sheet?

(A)$1,500,000
(B) $1,300,000
(C) $1,800,000
(DY$1,150,000
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4. Use the following data to determine the total amount of working capital.

Carne Auto Supplies
Balance Sheet
December 31, 2014

Cash $ 35,000
Accounts receivable 50,000
Inventory 70,000
Prepaid insurance 40,000
Stock investments 90,000
Land 95,000
Buildings $115,000

Less: Accumulated
depreciation (30.000) 85,000

Accounts payable $ 65,000
Salaries and wages payable 10,000
Mortgage payable 50,000
Total liabilities $165,000
Common stock $120,000
Retained earnings 250,000
Total stockholders” equity $370.000
Total liabilities and

stockholders’ equity $535,000

5. Using the following balance sheet and income statement data, what is the earnings per share?

Net income $ 21,000
Stockholders’ equity 39,000
Total liabilities 21,000

Trademarks 70,000

Total assets $535,000
(A)$130,000
(B) $120,000
(C) $80,000
(D) $210,000
Current assets $ 16,000 -
Current liabilities 8,000
Average assets 80,000
Total assets 60,000
Average common shares outstanding was 10,000.
(A)$3.90
(B)$6.00
(C)$2.10
(D) $0.48

6. Suppose that Morgan Corporation produced and sold 4,800 laptop computers during 2014, It

reported $150,000 cash provided by operating activities. In order to maintain production at 4,800
laptops, Morgan invested in $8,600 in equipment. Morgan paid $1,400 in dividends. What is

Morgan’s free cash flow?
{A)$140,000
(B) $160,000
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(C)$157,000
(D)$150,000

7. Howard Company had a transaction that caused a $5,000 increase in both assets and total
liabilities. This transaction could have been a(n)

(A)purchase of office equipment for $12,000, paying $7,000 cash and issuing a note payable
for the balance.

(B) investment of $5,000 cash in the business by the stockholders.

(C) purchase of office equipment for $5,000 cash,

(D)repayment of a $5,000 bank loan.

8. All of the following statements regarding the double-entry system are true except
| (A)a two-sided effect of each transaction is recorded in appropriate accounts when using the

double-entry system.

(B) the double-entry system provides a logical method for recording transactions.

(C) both sides of the accounting equation must be affected when recording a transaction using
the double-entry system.

(D)when using the double-entry system, the sum of all debits to the accounts must equal the
sum of all credits.

0. Why was Apple required to spread their iPhone revenues over a two year period?

(A)Because of its newness, their returns might exceed the normal level of returns.

(B) Because they were required to provide software updates over that two year period.

(C) Because that was the estimated life of the iPhone.

(D)Because they needed to defer revenue recognition since they had a swap program
available for future models.

10. The Vintage Laundry Company purchased $6,500 worth of laundry supplies on June 2 and
recorded the purchase as an asset. On June 30, an inventory of the laundry supplies indicated
only $1,000 on hand. The adjusting entry that should be made by the company on June 30 is:

(A)debit Supplies Expense, $1,000; credit Supplies, $1,000.
(B) debit Supplies, $5,500; credit Supplies Expense, $5,500.
(C) debit Supplies, $1,000; credit Supplies Expense, $1,000.
(D) debit Supplies Expense, $5,500; credit Supplies, $5,500.

11. If a company fails to adjust an Unearned Rent Revenue account for rent that has been earned,
what effect will this have on that month’s financial statements?

(A) Assets will be understated and revenues will be understated.
(B) Liabilities will be understated and revenues will be understated.

(C) Liabilities will be overstated and revenues will be understated.
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(D) Assets will be overstated and revenues will be understated.
12. If a purchaser using a perpetual inventory system pays the transportation costs, then the
(A)Inventory account is increased.
(B) Inventory account is not affected.
(C) Freight-Out account is increased.
(D)Delivery Expense account is increased.

13. At the beginning of the year, Uptown Athletic had an inventory of $400,000. During the year, the
company purchased goods costing $1,500,000. If Uptown Athletic reported ending inventory of
$500,000 and sales of $2,000,000, their cost of goods sold and gross profit rate would be

(A)$1,000,000 and 70%.
(B) $1,400,000 and 30%.
(C) $1,000,000 and 30%.
(D) $1,400,000 and 70%.

14. Which of these would cause the inventory turnover ratio to increase the most?
(A)Increasing the amount of inventory on hand.
(B) Keeping the amount of inventory on hand constant but increasing sales.
(C) Keeping the amount of inventory on hand constant but decreasing sales.
(D) Decreasing the amount of inventory on hand and increasing sales.

15. Nilson Company gathered the following reconciling information in preparing its August bank
reconciliation:

Cash balance per books, 8/31 $21,000
Deposits in transit 900
Notes receivable and interest collected by bank 5,100
Bank charge for check printing 120
QOutstanding checks 12,000
NSF check 1,020

The adjusted cash balance per books on August 31 is

(A)$24,960.

(B) $24,060.

(C) $13,800.

(D) $14,760.

16. Using the allowance method, the uncollectible accounts for the year is estimated to be $40,000. If
the balance for the Allowance for Doubtful Accounts is a $9,000 credit before adjustment, what
is the amount of bad debt expense for the period?

(A)$9,000
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(B) $31,000
(C) $40,000
(D)$49,000

17. Pearson Company bought a machine on January 1, 2014. The machine cost $144,000 and had an
expected salvage value of $24,000. The life of the machine was estimated to be 5 years. The
book value of the machine at the beginning of the third year would be

(A) $144,000.

(B) $120,000.

(€) $96,000.

(D) $48,000.

18. The following information is provided for Nguyen Company and Northwest Corporation.
' (in $ millions) Nguyen Company Northwest Corporation

Net income 2014 $275 $390
Net sales 2014 1,500 4,100
Total assets 12/31/12 1,000 | 2,400
Total assets 12/31/13 1,050 3,000
Total assets 12/31/14 1,150 4,000

If Nguyen and Northwest are in the same industry and the industry average for return on

assets is equal to 30%, which of the following statements is true?

(A) Nguyen is more profitable than the average company in its industry.

(B) Northwest is more profitable than Nguyen.

(C)Both Nguyen and Northwest are more profitable than the average company in their
industry.

(D)Nguyen is more profitable than Northwest.

19. Sparks Company received proceeds of $423,000 on 10-year, 8% bonds issued on January 1,2013.
The bonds had a face value of $400,000, pay interest annually on December 31st, and have a call
price of 102, Sparks uses the straight-line method of amortization. What is the amount of interest
expense Sparks will show with relation to these bonds for the year ended December 31, 20147

(A) $32,000
(B) $33,840
(C) $29,700
(D)$25,100

20. Qutstanding stock of the West Corporation included 40,000 shares of $5 par common stock and
10,000 shares of 6%, $10 par non-cumulative preferred stock. In 2013, West declared and paid
dividends of $4,000. In 2014, West declared and paid dividends of $12,000. How much of the
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2014 dividend was distributed to preferred shareholders?
(A) $8,000.
(B) $14,000.
(C) $6,000.

21.

22.

23.

24.

25.

(D)None of these answer choices are correct.
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